th2 AR B Q< BE> K4 gj
ETTgET
T a2 EE Wy 24
’ r’??:ﬁ’(z 8| i % 1% A
10 ﬁ?@ 11 4’&/\%\%@7
2 |1 Bl B G
20 Fhge < #onl3 4 14 2 Sl
| 219 + 0.— gD
31 NakCOs * HCl=RNall+ H:0+CPD.
2|y |sFegB. /za
AUAE TN IS TOY 7 VR 7y S
51 77 8l 1B %4 7 ?‘//’*LT"’ g\ '?/’*//\w?‘v A,
70 HoO0«+ Boll, — sHC| = BO\\‘O%
I
a 1@ 9w 05— 2Cu 0
@al 0.7%& bl /. o0 /2§
d 0.0 el 0.]0 p.2¢
® 4 | @ 200 28094
2|0 2Mq + 0> — 2Mq O
@ 3 5 |9 4504 .34
® ;0509 )

10

e 4 b o ddy
B o |2|eptRrs | 0B ELR
A N U A b

V, —
| ghiebk | T [l #E R
4 77 4 0 5| 7.2=7 |8 4
T oREL RIS |8 =

©

2NH.Cl + BalDH ), —

0,6/7 + 2H,0 + 9NHs

Naefel |2 g% 3| B e R
S| Fpapcliny s\ %enievn || E B
-2+
HERRg Aves- 2] 4
3|BEOBY a7 LT FIJE< L 4|
Nge oA B |e| eFERE |of s g7
s = Lo Yl B
o A% [F FAAE |FteB R |o|fminAl
s A D 4 E 5| 7
Wy s, 4, X 2l 7
N vl 1
gessr M BE [ EAGE)Y Y

#a




Ty 2 7 ,oA 3 o] 11_
TR « E/GYEYR ] Y ( ')
{
@® C(Cu:luo=4%%
ik 2| (ERLfND)RER |3 B% (.63’- xi - 45
X = lbxZ =20
c ) d 2 E 3 b, d t —
@ Cu CMC = Z(,; 5
. =41 g
E@mE |2 Fr ek 3 T 4 ik Xt 30 t ,
) 2 FFiEE 3 T 4 Z, Y, X )
(2)

AL 21® a @ g 3 HRRE(Z L BIER

DEMSBNEGEYHENMBROEDITHALNSSIICT =8,

AL ® 2.3 -5 = 0.8 (§2vour:BER)
Mg O = 302w

X 0.% =352
5 = @Jg/x—g:: (fli (BRI LT M?)




